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� ���$ 4��9 ����  .��� ����  *����! �$ F�� ���09 
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*���$ ���� �   ������� �� ����9 ��#�� ^� ���, ���S� ���  .%�� )J (��
C� �
�� *09 ���� �   ��0�
� �� �� 

�$��$ ����! /
$ �
�� *� ���  . 

 

 

 

 

  

  

  

  

�� ��� %�� �� �E�
9 
$ �
��
� @��� �� _�1� ;
�� 
$ ��
 �$
�� �� �� �
�� U)) �
�� *��
� ���A 

�$ ��� J  ���
D ���8 �����A .���$ �
�� �$ ��/
$ ���$ ������� �E�
9 *09 ����� �
>, Q�R ��� �$ ��H� �� 

�, ���� *� ���. 

���� ���� ��0�
� VV � ��I
9 �� ���$ ������� ���, .�� �E�
9 �
� ��#�� ��� �� 
2�� 
$ ��8 @��� � 

�
��
� �$
�� � �E�
9 *09 ���� J)  %����� �� �� �E�
9 ��#�� ��� �� ��0�
� VV ���  .��I
9 �� ���$ ��
 

�
���� ����� �� ��� ���� : 

 4�
� ��
 ���� � �<��� *������� �$�H �$ ������ �� �� *18��� �� �� �

 ��� �$ *���� ������ ��� � 

4�
� *� ��� � ���$ Q���� *���� 4����� *� �$
� .��
C� �� ������� �� ���09 L-
$ *� ��� �� ���$ ��#�� 

*���.�� 
$ ��8 �$
�� � �
2�� *09 ���� /��1� ���� ���/
$ �$�� �$ ��0�
� VV ����� ���
$  .�� ���� 

��
C��� �� ^� *09 ����� �E�
9 ���� ��� �� %$
=� R�C� �
A �
���
� ����
$  ���� �� ��� F�H�� � 
C! 

*����! �
������ �� 4�
� *� ��� � Q
�� *� ��� %���� ���,�� �
$ ��� ���� ��� %��� �� ���A  .��.- 

�$ ��� �
�!��� ��� ��� �$ ����
� 4��9 *���$�� ��
�� ���� .���� �
� ��� ��
$ �����$ 4�� ��
�� �� %�!� 

��� ��E �� �� "� P�� �� �$��$ ��
�� �� �� ���� �
��$ ?��� �

�� *� ��� � �� P�� ���� �� �$��$ 
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�$�H �� �� �� P�� @�� ���� *� ��� ���8 ����� .�� ��� �� ����H ��� �� �E�
9 ���� ��� ���
=� 

*�/
$ �� �$��$ *A�
9 ����� ��
$  .�� �E�
9 �� �� ^� �, "���/� ��� � ��!
� ���� ����� �� ���

� 

*I
2�� �� �!� 4�� ����� ���8 ����A ��� �!�� �� 4���A *� �$
� )%�� 6 ( 

 

 

 

 

  

   

  

  

�$�� ��� �$ �
�!��� �� ��0�
� VV ��/
$ � 
$ �
���� %�� /
$ ��� �
��� ��  ����� *� ���, �� ���� �� 

a�� *1��� 4�9 ���A � ���� ��� �!� �
$ �<��� ��  ��2$ QR
 ��
�� .�� ��� ���� � �!� ����� Q, � 

*I��� ��A
��A � ;9 �� ��RA ����E %
� ��0�
� VV @��� ��� �� ��2$  C! *� ��� .;9 �� ��RA ��E 

%
� *09 ���� �� ����� ����! � �$��� %�
�� �$ ��#����� ���� � �� �
��� 4�
� �
�!��� �, �� ����� �
� 

��� ����$ ���. 

�� ���#
! �
=�=!� �����A �� �$ ��� *09 ���� �� %
! �

�� ��� 
�� � �$ *� ��� ��0�
� VV %8��! �� 

���� ��� P�� ������ �� *���8 *���!$ ���� ��#��  Q
���� ��
$ � *09 ���� �� ���� ��� P�� ������ 

�
�� ������ ��
C��� ���A.    �� ��0�
� V ��� �� ;
�=� 
�$�� *�� �� ��#�� ���� ��� ��
C��� *� ��� � 
-�� ��� 

��� �� ��� P�# ����� ���$ � �� ����� 4�
� ���9 �� �$ %8��! *� ��
�� � ��� ��0$
8 ����� ��� ���2$ 

����. 
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P�# ��0�
� UV ��� 
$ �
�� �$ /
$ ���$ ��=� Q�R �, )JKY �
�� *��
� ���A ( ���$ ��
C��� �� ���� ��� 

Q�
�� *� �
$�  .%��� *0�� ��� P�# ���8 �/
$ �, ��� .@��� *����� "� ����� ^� ��0�
� VV Q�
�� 

���$ ���� ��� �� %��
 )J (�
�� ���� ��� ��� . 

        

 

        

 

  

  

 

   ������ ��&�� V� ����  �7   

 �
2�� ���� ��� f�
 �
2�� *�1�� �$ �
�� *� ���� �� �$ ���� �� �� �
2�� �
�     (Flat yarn)   � 

��E��� ���� +01� ����� �� �
����� �� �� �� ���,�� "� �0!�� �� � �� �0!�� �� %$
8 *$
���� ��� .^� 

���� ��� �� "�0> �����A � �!� 4�� ��#�� *�� �$ ���A  Godet)   (%�� ��RS� *� ���  .�=��� 4�� *0$8   

  ) Pre-drawing (  
2�� �$ �� �� ����
9 ���� ���� ^� ��� .�� ���A %�� ^� 
� ��E �
�� ����I
9 �� �
�� 

%��$� ���� �� ��A ��� � ;9� �� �=��� *0�� 4�� ��$ ���A %�� � ��� ����� *� ���. 
$ "�� �!C� 

�
� `�� *1� *� ��� *���A 4��   (Draw neck)   ��$ ���A 
� �$
D ���  .�
�� 4�� �� ��� ��=��� 

�
�!��� *I
2� � �
���� %�� ^� ����� ��� ��  �$ ���=� ��
�� ���1� *� ���  .�$ "�� �
�� ���A ��� � 

�=��� �!����� ��$ ���A �
� ��� � ��� � ���=� ?�
 *A�� �� �� *� ���  .�� ������ �� ?�
 *A�� �� 

��� � �
�� ����! �D���! JU) �
�� *��
� ���A Q
���� *� ���A .�� �� ���� 
2��    (Tangling)   �� 

������ �� �=��� �!����� 
� �����$ �

�� ��� . 
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O��+-� �$ ���*�� R�7 ��	��? )   (LDPF     Filament)   (Low Denier Per  

 ��  
!# ���

� ���� �� ���.�� �
2�� *�1�� *��0�
� 
$��=� V ���  .��
C��� �� ��� 
2�� ���$ �-��
� �� 

�� P�
�� � �
�� ��C�� � �
�!��� � *I��
� %��!� %�
1� *$�� �

�� *� ��� .%�#�$ �
�� �$ �E�
9 *�
� 
$ 

P
�1�� ���R9 ����$ �� ���� ��� � ���1� 
2���.�� �� ^� 
$ �$
D ���
� ���� �, 4����� ���
� ��� . �
2�� 

��
�� �� ���
$ �� ���� �� ���.�� �, U-J ��� � ����1$ �
2��  LDPF  ������ *� ����  .���$ ��#�� ��� 


2�� ��
$ �� ���,�� � �
����$� ��#�� *�����S� �

�� ���� .����1$ %
D� ���1� �
2����� ������ ��
$ ����$ ��� . 

�0�
� �
�� 
2���.�� �� �!C� ������ �$ ��C�� ^� *�
2� ��D
� ��RA ��� . ���$ ��#�� *C�# 
$ *������� Q�0�� 

� �0�
� ���R� ��
$ %8��! ��
$ �� ��> ������� ���.�� *A�
9 4����� ����� ��
� . 

 

 4����� ���1� 
2���.�� �� "� ^� � P
�1�� ���R9 �� �� �E�
9 *�
� 
$ ��0$
8 R�C� �� �� ���� �
2�� 
2�, 

���/
$ 4����� *� ��� .��#�� �E�
9 *�
� 
$    P
�1�� ���R9   ��/
$ )*=� ���� Stiffness-   (� Q
�� *� ���A 

�� �
! �
���� ���� ���   (Airbag Module)   4�
� �$
� .�A� ��/ ��
$ �� �E�
9 ����E �$��� 
� ����$ 
� 

�����$ �� �
���� ���� � � ���8 ����$ � ���
� *=� �E�
9 �$ �
! ���$ ��D
� ��RA ��� �� ��� ��D
� 
$��=� 

�$
�� �D� ��
�H �E�
9 �
!�$ ���$ ���  .�
A������#�� ������ �� *9 4�
� ���8 ���� ��� *� ���
$ � �� 

����� "� ���� *0� �$ ��� 4�
� ��� �E�
9 ��
� ���� � ��!�$ �� �$ *���
� � ���0�- ���� ��� ���# �� 

���� ���� .�
��� 4�
� ��� �E�
9 
� 
$ ��
C��� �� �
2��   LDPF   ���� *���$ ���8 ����A ���. 

����
�! � ��� �E�
9 �
� ��#�� ��� �� ^� U5) *�� ;�� 
$ �
2���.�� ��C��  �� ���
=� 
$ �
2���.��  

�����H � *��
C� �����  .�E�
�E �$ �

 ��C��  ���� �
2���.�� ^� � ���� ^� �� U5) �$ 6Y) *�� ;�� 

4�
� ��$
� �
�!��� � ��� �� �� 4�
� ����� ��
�. ��
$ �
�� ���� �� ��I
9 ����, ���� �^� �
�!��� �E�
9 

�� *�! 
$ 4����� ����� ��
$ 4�
� ����� ��� *�
��� �� ���� ^� 4�
� ��$
� %��� *$
���� �$ �
����� /
$ 

�� �
�0�- *A���
$ � ��� ��#�� �E�
9 �� 
$ @��� *���
�� Q�0�� ����$ ����� ��$ .���
=� �� �$��$ *A�
9 

^� U5) *�� ;�� &UU *���.�� � ����$ �� ^� 5J *���.�� ��� �� *A<�� �$D� �$ �
�� *� ��� .*�
2�� 
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�� ������$ P��� �� �� ���
$ ���� ��� ����� ����
$- ��  :^� ��0�
� VV 
$ ����  �
� 6&Y � 420� V6) 

� UK) ����   

 

 ���
�
- �E��C ����  �7  

�
� ���� ��� 
$ �
$ �� F��� *� ��� � �
��� S������ ��
�� �� ����� ���
$ ��
� ����� .�� ����� ��#�� 

���� � �E�
9 Q�
��� 
$ �
��
�� "� �
$ �� �<�� ���
�, ���  .�E�
9 ���� ��� ��
$:  

 * ��� � ��
�H *�� ����� ��
$ :��
�H �E�
9 ��$ U/)-JY/) ����0�� ���8 ���� .  

���$ ����� �
�0�- *0���� �$ ��� �E�
9 �$ $��* �

��  ���A � %��!��� P
�1��  ���R9 Q�� �� �, � 

��/ ��� �� ��
�H �E�
9 �� ��
$. 

   * ����� �
�!��� � ���
=� *A�
9 /
$ � ��� ��0$
8 QR
 �<��� �$ ����� *�
� ��
$ . 

    * ��0$
8 � *I��
� ��� �� %8��! �� ��- ��C� %�$���� � �� ����� 
�� � �$��� /
$  C! 
����  . 

    * �� �$��$ ���� *I
���� �
��$ %����� ��
=� ��
$ .  

      * %��� ��#�� � �����
9 ��
1$� *$�0�� ����� ��
$. 

      * ���=� R�C� ��� �� �, �
��$ �� ��
$ . 

      * �
���� �E�
9 ���
=� *�/
$ �� �$��$ 4�S# ����� ���
$.  

      * �8
� ��A � �
=� ���
�$ � *A�
9 �
� ��
$ 

�� �
�� ��� �
����� � �E�
9 ��
$ ��� � P
� ��
$ 
� *A��I
� � �$�H �

�� ���� � ��0$
8 *A���� *$�� 

����� ��
$. 

�� *!��� �E�
9 �
� ���� ��� � %���� ��0$
8 R�C� ��� ���� *�
�! ���  .;9 �� �
$ ��� ����� ��0�� %���� 

��� �, �� +��� �R�
�� ��� 
� � �
2����� �E�
9 Q��, � ���� �$ �� ���� �� �$ %8��! *� ��
�� .�
=�=!� 

�
�� *� ��� �� 
$ 4����� Q��H *A���
��9   (Cover Factor)   �E�
9 �
� ��0$
8 R�C� �� 
2�, 4�
� *� �$
� .

���$ 4�
� ��0$
8 R�C� �� ��E�
9 *� ���� �E�
9 �� 4��9 ��� � 
� ����� ;9 �� *A���
$ ��E�
9 �!� ?�
 



�� 

  

*A�� ��
1$� 
$ �
2��� �� � "�� ���8 ���A �� Q
�� 4����� *=� �E�
9 � ��� 4����� ����� �
�0�- 

*0���� �E�
9 *� ���A. 

���� ��� �� �E�
9 �
� ��
�- ���9 ��2� *� ���  .F�� ��
$ �E�
9 ����� *����$ �� ���1� P
�1�� ���R9 �, 

���� *#� 4�
$��� 
$ P
�1�� ���R9 �$ *���� ���
�� ���� ���  .������ �
�0�- *A���
$ �� �� ���
� ��9�� 

  (Rapier)   � %�
��
��9   (Projectile)   �

�� ��� .�
��� ��
$ �E�
9 
$ ��� ;9��   (Rep)   ��� ��
� ���� �� 

�� ��� ���� �E�
9 ���
=� *�/
$ �� �$��$ *A�
9 ����� ���� ���� �����   (Toray)   �� %���� ��� ')� 

*A���
$ �E�
9 ���� ��� �� 
$ �
2���
� �
 Q, F��� ���� .
� �, �
�� �
��� ��#�� �E�
9 �
� *�1�� �� ��� 


2���
� ��
� ����� *#� 
$ �<�#���� �$ �
� ����A ��� *� ���� �� �
2�� ���$ �
�, 
$ �-�� /
$ � 
$ ���8 

Q�
�� *��$ �� �E�
9 �
� ���� ��� �� ��#�� ��� .��
$ �
�� ���� �� �� ��� ���,�� ���
� �
�0�- *A���
$ 
$ 

��9�� � ��0$
8 ���S� ���R9 ��
� ����� .���=� �E�
9 *���� ���$ P�� ������ &gY � ������ �
�� �, U ��� 

?$�� ���  .�E�
9 ���� ��� P�� ������ �!� �
�0�- ��9 � ��$D� ��
1$� � 4��9 *�� ���8 ������ � �$ 

��� �E�
9 ������ �
�� ��, �
�0�- ���9  ��$D� *����! � :�����#
� �

�� �����  .�E�
9 ���� ��� �� 

:�� *�� ���B 
�� ���$ �����$ 
2��#
�
� ��
$ ���� ��� ��E �� ���� ��� "9� ���$ .���� *8
$ ���
� �� 

�E�
9 ��
$� ��0$
8 %
1��� ����� ���
$ ���� �� *� ���,�� �9 ��� ���� 
$ ��<����� 4�, ���� O� ����� ���. 

������ F��C O7� �E��C R�7 ����  �7  

�1$ �� �*A���
$ �E�
9 ���� P�� ������ 
$ ��9�I�   (Neoprene)   
� ����0��  (Silicon)    4��9 ���� ����� .

��� 4��9 ���$ ���
� � 
C! *�
��A �� �$��$ �
��
A `�� ��
$�� . ��.- �$ ��� � 4��9 ���� � � R�
�� 

�E�
9 �� �9 ���� � %���� *=�8� �$ ���,�� �
$ ��� ���� ����� *� ��� .�
2�A<�� *0�� ���$ 4��9 *�� 

����
$- �� :*A��$�E �Q�� P
�1�� ���R9 ���� ���� ���
=� �� �$��$ �����S� 
�� � ���
=� �� �$��$ ��� 

� �����
9 ��0$ ��� .���E�� ��0$
8 R�C� ��� �� �, �� ���$ � ���8 �, ��� ��I
9 ��
$ .���� �
� ���� ��#�� �� 

;�
 ��0�
� VV 
$ 4��9 ��9�I� ����$ .
�� *���� ;9 �� �, ���$ 4����� ��- ���� ��� � 4�
� ������ �, 

���� ��� 
$ 4��9 *����0�� �H�- ����A .
2����0�� ���� *�
���� *D�� ����� � @��� ��� �� �� �
�� /
$ 

�$ ��� *�/��  C! *� ���
��. 
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�� "� +�=!� � �E�
9 �
� *��0�
� 
$ 4��9 ��9�I� � ����0�� �$ ��� &J ��� �� �
�� &J) �
�� *��
� 

���A ���8 ���� ���� .�
���� %�� �E�
9 
� %$8 �� *���
�� U) %��$ .;9 �� �*���
�� �
���� %�� �E�
9 
$ 

4��9 *����0�� �$ 6J % ���� *#� �� �E�
9 
$ 4��9 ��9�I� 
2�� K %�
���� %�� ���
�� ����A .�0- ��� 

��� �� ������ �$ ��
A�
� P�1H ��9�I� 
$ ��0�
� �$�� ��� .��� %
��!� ��
� ���� �� �0� ��
�� �� ���9�I� 

��!� ����� �

�� ����� � L-
$ *A����� �E�
9 ���A .�E�
9 
$ 4��9 ����0��* P
�1�� ����R9 ���$ � 

���
=� *��
� ���/
$ �$�� �$ �E�
9 
$ 4��9 ��9�I� ���� .��.- �$ ���� �01$ ���� ��2$ � ��� ��0$
8 

��
A�
� 
2����0�� 
$ ���0�
� ������ �� 4��9 �����
� �� ����0�� ��
C��� ���� .�$
�$ %�/� ��R ��� �� %
! 

�H
! 4��9 ��9�I� �$ �-�� �� %
! *�����
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